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QUESTION 1

Which three tools can deploy metadata to production? (Choose three.)
A. Change Set from Developer Org

B. Force.com IDE

C. Data Loader

D. Change Set from Sandbox

E. Metadata API

Correct Answer: ADE

QUESTION 2

As part of a data cleanup strategy, AW Computing wants to proactively delete associated opportunity records when the
related Account is deleted. Which automation tool should be used to meet this business requirement?

A. Workflow Rules

B. Scheduled job

C. Record-Triggered Flow
D. Process Builder

Correct Answer: C

QUESTION 3

How should a developer make sure that a child record on a custom object, with a lookup to the Account object, has the
same sharing access as its associated account?

A. Create a Sharing Rule comparing the custom object owner to the account owner.

B. Create a validation rule on the custom object comparing the record owners on both records.
C. Include the sharing related list on the custom object page layout.

D. Ensure that the relationship between the objects is Master-Detail.

Correct Answer: D

QUESTION 4

An apex trigger fails because it exceeds governor limits. Which two techniques should a developer use to resolve the
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problem? Choose 2 answers

A. Use the database class to handle DML operations

B. Use maps to reference related records

C. Use SOQL aggregate queries to retrieve child records
D. Use lists for all DML operations

Correct Answer: BD

QUESTION 5

The orderHelper class is a utility class that contains business logic for processing orders. Consider the following code
shippet:

A developer needs to create a constant named DELIVERY_MULTIFILTER with a value of 4.15. The value of the
constant should not change at any time in the code.

How should the developer declare the DELIVERY_MULTIFILTER constant to meet the business objectives?
A. Decimal DELIVERY_MULTIFILTER = 4.15;

B. Static final decimal DELIVERY_MULTIFILTER = 4.15;

C. Static decimal DELIVERY_MULTIFILTER = 4.15;

D. Constant decimal DELIVERY_MULTIFILTER = 4.15;

Correct Answer: B
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